THEORY MODEL QUESTION FOR COMPUTER SCIENCE (CSQO)
Full Marks:70 Time:3 Hours

Answer all the questions from all sections.
T wost woft et B I ¢
SECTION-A (Objective Type Questions)

@ TR F ITOT 7T)

Select the correct answer from the multiple choices for the given questions.

Prer fog iyt 3 Redl F & w8 v o -

Marks: 35x1=35

(1) Which one is a linear data structure. TTH ¥ &7 fIfFTT s127 w0997 3

(a) Forest G (b) Tree %I
1 () Struct *TFC (d) Stack T
(2) cin isa/an . 7. T E
(a) input function 3TYE WHaTeT (b) output function IITIE T
(c) variable TS (d) data type STET 2137
(3) int isa/an 3. UA. IV ¥} |
(a) function T (b) operator  3IRTY
(c) constant FHI+E (d) datatype STeT TRT
(4) iostream.h is a/an A3, 3. T U™, F7 §
(a) data file STCT FrEe (b) header file BST WddA
(c) linker foimY (d) program block YITH =it
(5) Which one is a circular data structure TTH & $ TR 2T TFIX 2|
(a) Stack ¥F (b) Circular queue  HYRIT 7
(c) Linked list foferg foree (d) List fore

P



(6) Two dimensional array may have Q SEHTE WX H B B

(a) Only columns PEA DHAH

(c) Only one cell Hec] TH A

(b) Only rows Fad
(d) Both columns and rows

A ud FEH QAT

(7) Which one is a searching techniques ? T § F we F R g

(a) POP 9
(c) Binary  ST&{

(8) Abstraction means ? SFTE;FAT 3t B
(a) Summarization FHRISOTITA

(c) hiding  FRIW

(b) PUSH aq
(d) Traversal CHIHT

(b) elimination ﬁ?’ﬂ"ﬂﬁ?ﬁ
(d) casting adin

(9) Polymorphism is a feature of ? TICHATLAINH foaay fagan 2 °

(a) Procedural programming

e T

(¢) Non procedural programming
T TESRe FumiT
(10) Objects are ? Ssodgasdr & °

(a) Operators of class

(b) SQL TH. T, W

(d) Object Oriented Programming
Aagore MRures o

(b) creator of class

ARET 3ATh T fPiex sifs Fom
(c) instances of class (d) notrelated with class
TAERY A FA T ¥ gEsfrag 78 2|
(11) Which of the followings is not associated with Logic gate ?

TR q DA AF T § TR T8 8 7

(a) AND ws
(c) IF( ERd

(b) OR MR
(d) NOR GIES

{(12) Base of hex-decimal number system is o 3T TEHS FeH &1 I 7 87

(a) 10

) 6

(b) 14

(d) 16

A



/ (13) A Boolean function may be transform into ?
/ ST Feher Y frad Saer o g B
(a) logical diagram SISERT SSOTH  (b) logical graph G TTH
{c) map Ay (d) matrix AT
(14) Which one is not a Boolean operator ? ESE] E\lﬁ'ﬂ:f HOLeT 7B % ?
ﬁi (a) AND (b) OR
A (c) NOT (d) IFQ)
(15) Which of the following is not a topology ? 3% $1- ZIUrrs &7 & ?
(a) BUS (b) STAR
(c) RING (d) HUB
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Q.16 Which of the followings is valid protocol of computer network ?
T ¥ D-FT § FFYL AgdT 3 Qo § 7
(a) TCP/IP (b) NIC
(c) WWW (d) HUB
Q.17 Which of the followings is types of computer network ?
T ¥ DA-AT A FrYge T 3 TR E 7

(a) LAN (b) NODE

{c) SWITCH (d) UTP

Q.18 Which of the followings is a device of computer network ?

TTH ¥ A-$HIT FFYCL D JTHI 8 7

g (a) SMTP (b) HUB
i
| (c) FTP (d) TOPOLOGY
| Q.19 Stack is a/an ? ®H T ——-————- g7
*] (a) Variable 30Tad (b) Constant HEETC
|1
{ (c) Operator 3TIREX (d) data structure STT TEFL
Q.20 An Array is a/an ' 9 W U s 3K
4 (a) Datatype ST <139 (b) function HFIA
;fEl (c) header file BST HIRel (d) memory storage HHIY TR
i

Q.21 Which one is created first? 378 § 9 T8 Fuz g g ?

(a) CLASS 9 (b) METHOD J9&
1 (c) DATA 3T (d) OBJECT Sﬁﬁft

S
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Q.22  Relationship between Classes is represented by ?
FRG & Ty Fed g Rysiee Sar g ?
(a) Inheritance AR (b) Polymorphism SeiHTRRRAH
(c) Input FTYCS (d) Output ATIY

Q.23 Feature of a function which help it to behave differently is called ?

et w1 3oivar Red 1o I9FT Wag g9 SidT & T dEear & 7

(a) Inheritance ST3RC4 (b) Polymorphism TciATE HainT
(c)} Abstraction aﬁ@?ﬁ (d) Encapsulation ﬁ%‘gﬁw
Q.24 The decimal equivalent of 1100 is:
(a) 22 (b) 72
{c)12 (d) None of the above
Q.25 Which of the folfowing is not a OOP
language?
78 ¥ $9 OOP language &1 2
{a) ISP (b) C++
(c) HTML (d) JAVA

Q.26 Whichis a line by line Translator.
@ line by line Translator. & |
(a) Instruction (b) Compiler

© Interpreter {d) Program
Q27 Whatis float ? FelC T & ?

(a) Data type (b) Function
(c ) Operator (d) None of these
Q.28 Coniohisa file. Conio.h ~—---~ ST 2 |

(a)Header (b)Data

{ C) Basic (d) None of these



Q.29 What is getch() ?  (getch() T & |
(a) Single char input function (b) Multi char input function

( C)For hold the Program  (d) None of these

Q.30 What is “\b*? (“/b” T &)

(a) One step back (b) One step blank
(c) Bell (d) None of these
Q.31 Structure is a . {Structure T ---——- 21

(a ) User define data type (b) Pre define data type
(¢ ) Keyword (d) Function

Q.32 is 2 hidden single character input function.

—————— T e BT g T B

(a) getch() | (b) getchar()
(c) gets() {(d) None of these
Q.33 Boolean value returns . (Boolean value --—--- AeTr B
(a) True or False (b)Oorl
(c)AorB (d) None of these

Q.34 function is used to input value in stack.

— TEIT T IR T H IYC value & BT 2am 2

(a) push() (b) pop()
(c)cin (d) gets()
Q.35 Structisa__ (Struct T8 --—-— A
(a) Keyword (b) Function
(¢ ) Data type (d) None of these

e



Non objective Questions

I HfawdcE go
SECTION-B (Short Answer Type Questions)
oY I gE
Answer any 10 questions

(Write your answers not more than 50-70 words)

AT IS Yo-ee Fleal & << BT o |

Marks: 10x2=20

Q.1 Define CLASS & OBJECT in OOP .
FAH Ud AfeFe OOP # Sraria g Y |
Q.2 List relational operators in C++ and Explain their functions.
C++ ¥ Reema SEw &1 s FL @ ST HaeT ford |
Q.3 Write the functions of cin & cout key words with syntax.

cin @ cout H-asd FT Raw ald www o |
Q.4 Explain Array and its types. W A ureE FX TE R FHFR 09 |

Q.5. Explain merging and sorting concept, FIXSIT  Td o & e w3

Q.6 What is Primary key ? explain its use. FRA &I F47 8 ? 6P ITUTT FATS |
Q.7 Define DDL and list all DDL SQL commands.
DDL T GRS ¢ ToT @9 DDL FAUSH o |

Q.8 Define Wide Area Network (WAN) T18s URam Feds T gfwmeg &3 |

Q.9 What is topology ? explain types of topologies. TS T 8 73S TR qdr |

Q.10 Explain Boolean variable and Boolean constant,
S aRuser TF gRE Frgee # s w |

Q.11 Differentiate between Associative law and Distributive law.

Associative law & Distributive law ¥ 3% 91 |

==




Q.12 Define multilevel inheritance with an example ?
(AFEIEd =T B 97 IeBXOr & @y ufteia &1 |
Q.13 What is dynamic array ?

(dynamic array &7 2l
Q.14 Define Primary and candidate key.

(Primary and candidate key S IR %3 |
Q.15 Define Data Manipulation Language(DML)

DML & qisnisa ¢



SECTION-C (Long Answer Type Questions)
@ Faha o)

(Write your answers not more than 150-250 words)

T I Wo-3up WEGT H AT & Ry |

Marks: 5x3=15
Q.1 Define Stack and show its implementation using a C++ program,

ﬁﬁﬁwﬁ@wﬁﬂﬁﬂ%ﬁ%mmaﬁi
OR
Define linear searching and show its implementation using a C++ program
Wmﬁqﬁwﬁ@wmﬁﬁ%mmwﬁa
Q.2 Write a program in C++ to accept value of ,P,R,T then calculate and display simple interest.
C++ QUM g 9. R, &, T RY A F IR A P ez |
OR
Write an objected program in C++ to demonstrate inheritance.
CHﬁE%ﬁﬁﬁ@ﬁ?@@ﬁ@WWWﬁﬁl
Q.3 Write an object oriented program in C++ to demonstrate default constructor,
Cﬁﬁﬁmﬁwaﬂﬁmﬁaﬁ%@waﬁﬁmamm%ﬁr
Write a program in C++ g)}ionvert Rupees into US dollar (Assume 1$= Rs.64 )

Wﬁﬁmﬁaﬁﬁ?@CHﬁmﬁﬁl (1$=Rs.64)

=




PRACTICAL MODEL QUESTION FOR COMPUTER SCIENCE (CSC)

JafTF g7

Full Marks:30 Time:3.15 Hours

(15 marks for practical examinations, 5 marks for project-work, 5 marks for practical file and 5
marks for Viva-voce.)

15 3% YA wem, 5 siF 9kEe B 5 3% JANT YR T 5 3 M aem & g &
SECTION -A Marks 1x 10=10

Write a program in C++ to accept 10 integer numbers then calculate and display sum, multiple and
average of all the numbers.

OR

Write a program in C++ that initialize an object using over loaded constructor.

SECTION -B Marks 1x5=5

2. Write SQL query to delete a row, insert a record and to list all the tuples (Rows)
For the following table;

Product-code
Prod-Name
Prod-Rate

Prod-Qty
Prod-mfdt

Prod-expdt W




THEORY MODEL QUESTION FOR COMPUTER SCIENCE (CSC)

Full Marks:70 Time:3 Hours

Answer all the questions from all sections.

g+l @usl @ 9ol & IwT § |
SECTION-A (Objective Type Questions)
(@RI FHIX F IT q9)
Select the correct answer from the multiple choices for the given questions.
Fre fow w8yt & fasedt F § 9 sww g -
Marks: 35x1=135
ANSWER KEY:
1.D 2.A .B 4.B 5.B 6.D
7.C 8.C 9.D 10. C 11.C . 12.D
13. A 14.D 15.D 16. A 17. A 18.B
19.D 20.D 21.A 22, A 23.B 24.C
25.1C 26.C 27.A 28. A 29. A 30. A
31L.A 32.A 33.C 34. A 35.A




